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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['1", "lopt’], [T, "Topt'], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl', ’'optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’,
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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P3-9

BriE) | GEBAK @) | ERE(EH/AR | EREE (F/R) [ XS ERF

07:15 283 150.0 2.888 E|  FaHR@07:15 KEFEF (KAL)
07:50 283 150.0 2. 888 | FHEAe07:50 KEFEF (KRAEREEE)
08:45 283 150.0 2. 888 BH| FnHAe08:45 K4ANF2F (KRAEREE)
09:35 283 150.0 2. 888 FA| FnHA@09:35 AFFEF (KAFERE)
10:15 283 150.0 2. 888 FA| FHA@10:15 KRENFZF (KRFAEES)
10:50 283 150.0 2. 888 BH| FhHA@10:50 K4E1F2F (KRAEREE)
11:25 283 150.0 2. 888 FH| FnHA@11:25 KRENFZF (REERSE)
12:00 283 150.0 2. 888 FA| hHR@12:00 REIEHF (RAKLESR)
12:30 283 150.0 2. 888 FH| FhHA@12:30 KEF2F (KRAHEREE)
13:00 283 150.0 2. 888 FA| hHA@13:00 KRENFZF (RAAIEEE)
13:30 283 150.0 2.888 FA| FhHR@13:30 KRFMIEHF (CRALER)
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15:15 283 150.0 2. 888 FA| FhHR@15:15 RHMIEHF (RALESR)
15:55 283 150.0 2.888 FA| FhHR@15:55 KRHMIEHF CRALESR)
16:45 283 150.0 2. 888 BH| FhHAe16:45 KEF2F (RAEREE)
Bit] 4528.0 (167%) 2400. 0 3203 %EC: 2080.0, PH: 6.0
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P3-9_0, Day=64 (2025-06-05)
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P3-9

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

07:15 288 150. 0 2.888 E[ BRi&e07:15 Bz (RFAEREEE
07:50 288 150.0 2.888 F[  BRi1%e07:50 Ba1 (GRAERSE)
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Bit] 4896.0 (170% 2550. 0 323 KEC: 2080.0, PH: 5.8
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P3-9_0, Day=63 (2025-06-04)
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